

Inverse Relations and the Products of Bernoulli Polynomials

Amy M. Fu¹, Iris F. Zhang²

¹Center for Combinatorics, LPMC-TJKLC, Nankai University, P.R. China.
e-mail: fu@nankai.edu.cn

²Center for Combinatorics, LPMC-TJKLC, Nankai University, P.R. China.
e-mail: zhangfan03@mail.nankai.edu.cn

Abstract. In this paper, we give two inverse pairs of identities involving products of the Bernoulli polynomials and the Bernoulli polynomials of the second kind.

Key words. Bernoulli polynomial, Bernoulli polynomial of the second kind, inverse relation.

1. Introduction

The Stirling numbers of the first kind $s(n, k)$ and the Stirling numbers of the second kind $S(n, k)$ satisfy the following pair of classical inverse relations:

$$f(n) = \sum_{k=0}^n s(n, k)g(k), \quad g(n) = \sum_{k=0}^n S(n, k)f(k). \quad (1)$$

The n -th Bernoulli polynomial $B_n(x)$ and the n -th Bernoulli polynomial of the second kind $b_n(x)$ are defined by the generating functions

$$\sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!} = \frac{te^{tx}}{e^t - 1}$$

and

$$\sum_{n=0}^{\infty} b_n(x)t^n = \frac{t(1+t)^x}{\log(1+t)}.$$

Based on (1), we give the following two inverse pairs of identities involving products of the Bernoulli polynomials and the Bernoulli polynomials of the second kind.

Theorem 1. *Let $y = x_1 + \cdots + x_N$. Then for $n \geq N$, we have*

$$\sum_{\substack{k_1 + \cdots + k_N = n \\ k_1, \dots, k_N \geq 0}} \binom{n}{k_1, \dots, k_N} B_{k_1}(x_1) \cdots B_{k_N}(x_N) = (-1)^{N-1} N \binom{n}{N} \\ \times \sum_{j=0}^{N-1} (-1)^j \frac{B_{n-j}(y)}{n-j} \sum_{k=0}^j \binom{N+k-j-1}{k} s(N, N-j+k) y^k \quad (2)$$

and for $n \geq N + 1$, we have

$$(n - N) \sum_{k=0}^N \binom{N}{k} (-y)^k \frac{B_{n-k}(y)}{n-k} = (-1)^N \sum_{k=0}^N \binom{n-N+k}{k}^{-1} S(N+1, k+1) \\ \times \sum_{\substack{l_0+\dots+l_k=n-N+k \\ l_0, \dots, l_k \geq 0}} \binom{n-N+k}{l_0, \dots, l_k} B_{l_0} \left(y - \sum_{i=1}^k x_i \right) \prod_{i=1}^k B_{l_i}(x_i). \quad (3)$$

Theorem 2. Let $y = x_1 + \dots + x_N$. Then for $n \geq N$, we have

$$\sum_{\substack{k_1+\dots+k_N=n \\ k_1, \dots, k_N \geq 0}} b_{k_1}(x_1) \cdots b_{k_N}(x_N) = \frac{(-1)^{N-1}}{(N-1)!} \sum_{j=0}^{N-1} b_{n-j}(y) \\ \times \sum_{k=0}^{n-N} S(N-1, N+k-j-1) k! \binom{y+N+k-j-1}{k} \binom{n-j-1}{n-k-N} \quad (4)$$

and for $n \geq N + 1$, we have

$$\sum_{k=0}^{n-N-1} b_{n-k}(y) \binom{y+N}{k} \binom{n-1-k}{N} = \frac{1}{N!} \sum_{k=0}^N (-1)^k s(N, k) k! \\ \times \sum_{\substack{l_0+\dots+l_k=n-N+k \\ l_0, \dots, l_k \geq 0}} b_{l_0} \left(y - \sum_{i=1}^k x_i \right) \prod_{i=1}^k b_{l_i}(x_i) \quad (5)$$

where $\binom{x}{n} = x(x-1)\cdots(x-n+1)/n!$ for complex number x .

Identity (2) was first discovered by Dilcher [3] by induction. Later, Chen [2] proved it by evaluating certain Zeta functions. Follow Dilcher's method, Wu and Pan [5] derived an identity on the sum of products of Bernoulli numbers of the second kind recently, which is the special case of (4) by setting $x_1 = \dots = x_N = 0$.

2. Proof of Theorem 1

We first give a lemma, in which the second identity is already proved in [1] by induction. Here we offer a different proof.

Lemma 1. Let N be a positive integer. We have

$$\frac{1}{(e^t - 1)^N} = \frac{1}{(N-1)!} \sum_{k=1}^N (-1)^{k-1} s(N, k) \frac{d^{k-1}}{dt^{k-1}} \left(\frac{1}{e^t - 1} \right) \quad (6)$$

and

$$(-1)^N \frac{d^N}{dt^N} \left(\frac{1}{e^t - 1} \right) = \sum_{k=0}^N S(N+1, k+1) \frac{k!}{(e^t - 1)^{k+1}}. \quad (7)$$

Proof. By (1), it suffices to prove one of those two formulas, say (6). The right hand side of (6) equals

$$\begin{aligned} \frac{1}{(N-1)!} \sum_{k=1}^N (-1)^k s(N, k) \sum_{j=0}^{\infty} e^{jt} j^{k-1} &= \frac{1}{(N-1)!} \sum_{j=0}^{\infty} e^{jt} \sum_{k=1}^N (-1)^k s(N, k) j^{k-1} \\ &= (-1)^N \sum_{j=0}^{\infty} \binom{N-1+j}{j} e^{jt} = \frac{1}{(e^t-1)^N}, \end{aligned}$$

as desired. \square

Lemma 2. *We have the binomial identities,*

$$\sum_{i=0}^m \binom{n}{i} (-1)^i = \begin{cases} 0, & m \geq n, \\ (-1)^m \binom{n-1}{m}, & \text{otherwise,} \end{cases} \quad (8)$$

and for complex number x, y ,

$$\sum_{i=0}^n \binom{x}{i} \binom{y}{n-i} = \binom{x+y}{n}. \quad (9)$$

Lemma 3. *We have*

$$\left[\frac{t^n}{n!} \right] \left(e^{tx} \frac{d^m}{dt^m} \left(\frac{1}{e^t-1} \right) \right) = \sum_{j=0}^m \binom{m}{j} (-x)^{m-j} \frac{B_{j+n+1}(x)}{j+n+1}, \quad (10)$$

where we denote $[t^n]f(t)$ the coefficient of $[t^n]$ in $f(t)$.

Proof. Since

$$\begin{aligned} \frac{d^m}{dt^m} \left(\frac{1}{e^t-1} \right) &= \frac{d^m}{dt^m} \left(\frac{te^{tx}}{e^t-1} \cdot \frac{e^{-tx}}{t} \right) \\ &= \sum_{k=0}^m \binom{m}{k} \left(\sum_{i=0}^{\infty} \frac{B_i(x)t^{i-k}}{(i-k)!} \right) \left((-1)^{m-k} \frac{(m-k)!}{t^{m-k+1}} + \sum_{j=0}^{\infty} \frac{(-1)^{j+1} x^{j+1} t^{j-m+k}}{(j+1)(j-m+k)!} \right) \\ &= \sum_{i=0}^{\infty} B_i(x) t^{i-m-1} \frac{m!}{i!} \sum_{k=0}^m (-1)^{m-k} \binom{i}{k} \\ &\quad + \sum_{i,j=0}^{\infty} \frac{B_i(x)(-x)^{j+1}}{j+1} t^{i+j-m} \frac{m!}{i!j!} \sum_{k=0}^m \binom{i}{k} \binom{j}{m-k} \\ &= \sum_{i=0}^{\infty} \frac{B_{i+m+1}(x)t^i}{(i+m+1)i!} + \sum_{i=0}^{\infty} \frac{t^i}{i!} \sum_{j=0}^{i+m} \binom{i+m}{j} \frac{B_j(x)(-x)^{i+m-j+1}}{i+m-j+1} \end{aligned}$$

and since

$$\sum_{i=0}^n a_i \sum_{j=0}^{i+m} b_j = \sum_{j=0}^{m+n} b_j \sum_{i=0}^n a_i - \sum_{j=1}^n b_{j+m} \sum_{i=0}^{j-1} a_i,$$

it follows that

$$\begin{aligned}
& \left[\frac{t^n}{n!} \right] \left(e^{tx} \frac{d^m}{dt^m} \left(\frac{1}{e^t - 1} \right) \right) \\
&= \sum_{i=0}^n \binom{n}{i} \frac{B_{i+m+1}(x)}{i+m+1} x^{n-i} + \sum_{i=0}^n \binom{n}{i} \sum_{j=0}^{i+m} \binom{i+m}{j} \frac{B_j(x) x^{n+m-j+1} (-1)^{i+m-j+1}}{i+m-j+1} \\
&= \sum_{j=0}^m \binom{m}{j} (-x)^{m-j} \frac{B_{j+n+1}(x)}{j+n+1}.
\end{aligned}$$

□

Proof of Theorem 1. We first give a proof of (2).

By the generating function of Bernoulli polynomials, it can be checked that the left hand side of (2) is equal to $\left[\frac{t^n}{n!} \right] \left(\frac{t^N e^{ty}}{(e^t - 1)^N} \right)$.

From (6), one obtains

$$\begin{aligned}
& \sum_{\substack{k_1 + \dots + k_N = n \\ k_1, \dots, k_N \geq 0}} \binom{n}{k_1, \dots, k_N} B_{k_1}(x_1) \cdots B_{k_N}(x_N) \\
&= \frac{1}{(N-1)!} \sum_{k=1}^N (-1)^{k-1} s(N, k) \left[\frac{t^{n-N}}{n!} \right] \left(e^{ty} \frac{d^{k-1}}{dt^{k-1}} \left(\frac{1}{e^t - 1} \right) \right).
\end{aligned}$$

From (10), the last summation equals

$$\frac{n!}{(n-N)!} \sum_{k=1}^N (-1)^{k-1} s(N, k) \sum_{j=0}^{k-1} \binom{k-1}{j} (-y)^{k-1-j} \frac{B_{j+n-N+1}(y)}{j+n-N+1}.$$

Changing the order of summations and replacing j by $N-1-j$, we complete the proof of (2).

Multiplying both sides of (7) by $(-1)^N e^{ty} t^{N+1}$, then using Lemma 3 to compare the coefficients of t^n on the both sides of the new formula, we obtain (3). □

3. Proof of Theorem 2

Lemma 4. *Let N be a positive integer. We have*

$$\frac{(-1)^N N!}{\log^{N+1}(1+t)} = \sum_{i=0}^N S(N, i) (1+t)^i \frac{d^i}{dt^i} \left(\frac{1}{\log(1+t)} \right), \quad (11)$$

$$\frac{d^N}{dt^N} \left(\frac{1}{\log(1+t)} \right) = \frac{1}{(1+t)^N} \sum_{i=0}^N (-1)^i s(N, i) \frac{i!}{\log^{i+1}(1+t)}. \quad (12)$$

Proof. By (1), we only need to prove (11). It is easy to check that

$$\begin{aligned} \frac{(-1)^N N!}{\log^{N+1}(1+t)} &= \left((1+t) \frac{d}{dt} \right) \frac{(-1)^{N-1} (N-1)!}{\log^N(1+t)} \\ &= \left((1+t) \frac{d}{dt} \right)^2 \frac{(-1)^{N-2} (N-2)!}{\log^{N-1}(1+t)} \\ &\quad \dots \\ &= \left((1+t) \frac{d}{dt} \right)^N \frac{1}{\log(1+t)}. \end{aligned} \quad (13)$$

Note that (see [4])

$$\left((1+t) \frac{d}{dt} \right)^n = \sum_{i=1}^n S(n, i) (1+t)^i \frac{d^i}{dt^i}. \quad (14)$$

Then identity (11) can be deduced from (13) and (14). \square

Lemma 5. *Let x be complex number, and m, n, r be integers, for $m, n \geq 0$ we have*

$$[t^n] \left((1+t)^{x+r} \frac{d^m}{dt} \left(\frac{1}{\log(1+t)} \right) \right) = m! \sum_{j=0}^n b_{j+m+1}(x) \binom{x+r}{n-j} \binom{m+j}{m}. \quad (15)$$

Proof. We have

$$\begin{aligned} (1+t)^{x+r} \frac{d^m}{dt^m} \left(\frac{1}{\log(1+t)} \right) &= (1+t)^{x+r} \frac{d^m}{dt^m} \left(\frac{t(1+t)^x}{\log(1+t)} \cdot \frac{1}{t(1+t)^x} \right) \\ &= (1+t)^{x+r} \sum_{k=0}^m \binom{m}{k} \sum_{j=k}^{\infty} b_j(x) t^{j-k} \frac{j!}{(j-k)!} \sum_{i=0}^{m-k} \binom{m-k}{i} \\ &\quad \times (-1)^{m-k} \frac{(m-k-i)!}{t^{m-k-i+1}} \binom{x+i-1}{i} \frac{i!}{(1+t)^{x+i}} \\ &= m! \sum_{k=0}^m \sum_{j=0}^{\infty} b_j(x) \binom{j}{k} \sum_{i=0}^{m-k} (-1)^{m-k} \binom{x+i-1}{i} \sum_{l=0}^{\infty} \binom{r-i}{l+m+1-i-j} t^l. \end{aligned}$$

Extracting the coefficient of t^n yields

$$m! \sum_{k=0}^m \sum_{i=0}^{m-k} (-1)^{m-k} \binom{x+i-1}{i} \binom{r-i}{m+n+1-i-j} \sum_{j=0}^{m+n+1-i} b_j(x) \binom{j}{k}.$$

Now changing the summation order appropriately then applying (8) and (9) and noticing $\binom{-x}{n} = (-1)^n \binom{x+n-1}{n}$, we get the desired result. \square

Proof of Theorem 2. By the generating function of Bernoulli polynomials of the second kind, the left side of (4) equals $[t^n] \left(\frac{t^N(1+t)^y}{\log^N(1+t)} \right)$.

From (11) we have

$$\sum_{\substack{k_1 + \dots + k_N = n \\ k_1, \dots, k_N \geq 0}} b_{k_1}(x_1) \cdots b_{k_N}(x_N) \\ = \frac{(-1)^{N-1}}{(N-1)!} \sum_{k=0}^{N-1} S(N-1, k) [t^{n-N}] \left((1+t)^{y+k} \frac{d^k}{dt^k} \left(\frac{1}{\log(1+t)} \right) \right).$$

From (15), the last summation equals

$$\frac{(-1)^{N-1}}{(N-1)!} \sum_{k=0}^{N-1} S(N-1, k) k! \sum_{j=0}^{n-N} \binom{y+k}{n-N-j} \binom{k+j}{k} b_{k+j+1}(y).$$

Now changing the order of summations, and replacing j by $n-k-j-1$, we complete the proof of (4).

Multiplying both sides of (12) by $t^{N+1}(1+t)^{N+y}$, then using Lemma 5 to compare the coefficients of t^n on the both sides of the new formula, we derive (5). \square

Acknowledgements. The authors are grateful to the referees for the helpful comments. This work was supported by the 973 Project, the PCSIRT Project of the Ministry of Education, the Ministry of Science and Technology, and the National Science Foundation of China.

References

1. T. Agoh and K. Dilcher, Convolution identities and lacunary recurrences for Bernoulli numbers, *J. Number Theory* **124** (2007), 105–122.
2. K. W. Chen, Sums of products of generalized Bernoulli polynomials, *Pacific J. Math.* **208** (2003), 39–52.
3. K. Dilcher, Sums of products of Bernoulli numbers, *J. Number Theory* **60** (1996), 23–41.
4. R. Graham, D. Knuth and O. Patashnik, *Concrete Mathematics*, 2nd Edition, Addison-Wesley, 1994 .
5. M. Wu and H. Pan, Sums of products of Bernoulli numbers of the second kind, *Fibonacci Quart.* **45** (2007), 146–150.

Received: April, 2009

Final version received: April, 2009